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QUESTION 1

Which is NOT a valid option to improve service for connection requests under TCP/IP protocol?
A. Adding sm_listen threads.

B. Adding listener threads for additional ports.

C. Dynamically increase the number of listener threads using onmode -P commands.

D. Adding an additional network-interface card to service Informix connection requests.

Correct Answer: A

QUESTION 2

Assuming network connectivity between two Informix instances, which file may need additional configuration to allow
distributed queries?

A. sglhosts

B. /etc/services

C. $ONCONFIG
D. /etc/hosts.equiv

Correct Answer: D

QUESTION 3

The total number of locks allocated equals the value specified by the LOCKS configuration parameter. What is the
behavior of the database server when more locks are now requested?

A. The user encounters a lock request error.

B. More memory is allocated for additional lock structures from DS_TOTAL_MEMORY.

C. More memory is allocated for additional lock structures in the VIRTUAL section of shared memory.
D. More memory is allocated for additional lock structures in the RESIDENT section of shared memory.

Correct Answer: C

QUESTION 4

Which command would you use to export and import backup object metadata from one database server to another in
conjunction with Primary Storage Manager?



A. onbar -E

B. dbexport

C. onsmsync
D. ontape -exp

Correct Answer: C

QUESTION 5

Which table attribute defines the percentage of changes (insert/update/delete) threshold to consider the statistics as
stale?

A. STATAUTO

B. STATFORCE
C. FORCE AUTO
D. STATCHANGE

Correct Answer: D

QUESTION 6

Which feature can be enabled in Informix?
A. Automatic addition of a CPU VP.

B. Automatic addition of an ADM VP.

C. Automatic extension of storage spaces.
D. Automatic addition of message log files.

Correct Answer: C

QUESTION 7

The purge policy CANNOT be executed for a rolling window table utilizing which method?
A. By calling the syspurge function.

B. By the purge_tables task of the Scheduler.

C. By setting up the server to automatically run the purge policy.

D. By running ALTER FRAGMENT with the PURGE NOW predicate.



Correct Answer: D

QUESTION 8

Which parameter is used to enable transactions to complete after failover of the primary server?
A. HA_FOC_ORDER

B. FAILOVER_CALLBACK

C. CLUSTER_TXN_SCOPE

D. FAILOVER_TX_TIMEOUT

Correct Answer: D

QUESTION 9

Which statement about DataBlade modules is true?

A. All DataBlades located in the $INFORMIXDIR/extend are automatically registered.

B. All built-in extensions are automatically registered when the extension is first accessed.

C. All built-in extensions are automatically registered each time the database sever is started.

D. All built-in extensions are automatically registered when the database server is first initialized.

Correct Answer: B

QUESTION 10

Which statement is valid about Data consolidation using send-only replicates?
A. You can have more than one target server.

B. You cannot modify a server to change its mode to send-only.

C. You cannot use this replicate for tables that include TimeSeries columns.
D. You need to define a different replicate for each send-only primary server.

Correct Answer: C

QUESTION 11

In an organization, all employees are authenticated via domain wide Kerberos single sign- on. The DBSA wants to
provide access to the database server for an employee without requesting the Operating System (OS) administrator to
create a OS level user account. Which Informix feature does the DBSA need to leverage?



A. Mapped users

B. Role based users

C. Table level access for users
D. Label based access for users

Correct Answer: A

QUESTION 12

Which two statements are true about Enterprise Replication of TimeSeries data types? (Choose two.)

A. ATS and RIS files must be in XML format.

B. The replicate must be a mastered replicate.

C. The conflict resolution rule must be always-apply.

D. The WHERE clause in the participant definition must include a TimeSeries column.

E. CDR_TSINSTANCEID configuration parameter must be set to the same value for every replication server.

Correct Answer: BC
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